x? +y% — 2kx + 2ky + 3k — 4k +2 = 0 9]
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Y x?+y?—2x—4day+b=0°] F (=3, 4) & AU, x Fo| Hote =
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@ 2x-2y+3=0

@ 2x+2y-3=0
® 2x+2y+3=0
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6. ko groll AN ~ 3k)x — (k + 2)y - (K — 4)z = 28°] G4
A= x,y, 29 Fe AT, 3x 4y + 29 FHe?
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T oA f(x) = X +x+a, g(x) = 2x* + bx — 1] HdFFF7t
19 o, 7 ohdA] o] HAFulaeE F-5HH?

@ (x-1)(x-2)(2x-1) @ (x-1)(x+1)(2x-1)

@ (x-1)(x+2)(2x+1) @ (x-1)(x+2)(x+3)

® (x-1)(x+2)(x-2)
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OJAFETAl 2 4 g+ b <09 BI7F -2 < x < 3 & ], o]}
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O| AP A A x% - 2(m — 4)x + 2m = 0 ©] o tste] thx 22
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(i) 5F o] BF 28T A}
(i) 27F 5 2 Arelel et

DO 8<m<10,m>10 @ 8<m<10,m>8
@ -10<m<10,m>10 @ -10<m<10,m>8

® 8<m<10,m> 12



13. olAAA 42 - mr+2 = 0°] 25} 2 23} 28} Ze 22 74
EEEREREEEL T

@ m>-1 @ m>1 @ m>-2

@ m>?2 ® m>3
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O|xFer y = ax?+bx+c & ZFHigko] 9 o]
0 9] T o] -2, 4 A wf, abe 2] FH27 (
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Pt (m-1)x+m+1=09F o] A7t HE=E Ao m o] ¢
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20. A(1, 5), B(7, -1), P(x, y) ol ti5to] APLBP 92 W&o 24
A2

DO xP+y*=1 @ (x+1)2+(y-22=4
® (x-22%2+(+4)2=10 @ (x=3)2+(y-4)2=12

® (x—4)2+ (y-2)2 =18
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24. AExy,7bx+y+z=2,2+y’+22 =14, 3 +y  + 2 =20
ST o, x -2y + 29 F-E& FOHH? (H x<y<z)
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